
               Welland Goulsmith School 

                               Class:1 

                            Arithmetic 

Subtraction with borrowing: 

Recapitulation: 

The teacher explained he concept of borrowing first with 2 digit numbers and then went on to 2 digit 

numbers. 

Worksheet: 

1.Fill in the missing numbers: 

    T O   T O   T O  

a) 2 4 -    9 = ___ 

b) 3 0 -  __ = 2 2 

c) 4 5 -     5 = ___ 

d) 8 7 - 2 7 = ___ 

e) 6 5 - ___= 5 5 

f) 5 8 - ____=4 4 

g) 7 2 - 1 2  =____ 

h) 6 6 - ___ = 3 0 

i) 4 0 - ____= 2 0 

j) 5 4 -  1 4  =____ 

2.Subtract(2 digit numbers) 

T O T O 

 4 2  5 3 
-2 4 -3 6 

  

 

T O T O 

 2 5  6 4 

-1 9 -4 6 

  

 

T O T O 

 2 5  6 2 

-1 8 -4 9 

  

 



3.Subtract( 3 digit numbers) 

 H T O  H T O  H T O 
 3 3 3  4 5 4  5 6 5 

-2 2 4 -2 3 7 -4 5 6 

   

 

 H T O  H T O  H T O 

 2 1 8  5 4 3  7 8 7  

-1 0 9 -1 1 9 -5 7 9 

   

 


